

t. (713)881-5300

www.datavox.net

DataVox Contact:

Account Manager: Kenny De La Calz

Expiration

Date

Quote # DVXQ33833-05

Dec 3, 2025

Jan 3, 2026

Phone (713) 881-7432

Email kennyd@datavox.net

Prepared by: Isabel Madrigal

Phone 713-881-7169

Email isabelm@datavox.net

Prepared for:

Lee College

200 Lee Dr Baytown, TX 77522

USA

Luis Hernandez

Email lhernandez@lee.edu

Phone 281-427-5611

Customer ID #

Project #

Contract Vehicle: Texas DIR

DIR Vendor Number: DataVox Texas DIR Vendor Number 176-025-1479-000

DIR Contract Number: **DIR-CPO-5347**

Ship to Information:

Baytown, TX 77522

attn: Luis Hernandez

Here is the quote you requested.

Lee College

200 Lee Dr

USA

This contract information must appear on the purchase order

AP Wireless Upgrade Phase 2

| Part # | Description | Contract# | Service | Qty | Unit Price | Ext. Price |
|------------------|--|--------------|---------|-----|-------------------|--------------|
| Cisco 9164I APs | | | | | | |
| CW9164I-B | Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B | DIR-CPO-5347 | - | 160 | \$775.53 | \$124,084.80 |
| SW9164-CAPWAP-K9 | Capwap software for Catalyst 9164I | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| NETWORK-PNP-LIC | Network Plug-n-Play Connect for zero-touch device deployment | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| AIR-DNA-E | Wireless Cisco DNA On-Prem Essential, Term Lic | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |

| Part # | Description | Contract# | Service | Qty | Unit Price | Ext. Price |
|--------------------|--|--------------|---------|---------|-------------------|--------------|
| AIR-DNA-E-5Y | Wireless Cisco DNA On-Prem Essential, 5Y Term Lic | DIR-CPO-5347 | 5YR | 160 | \$150.82 | \$24,131.20 |
| AIR-DNA-E-T | Wireless Cisco DNA On-Prem Essential, Term, Tracker Lic | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| AIR-DNA-E-T-5Y | Wireless Cisco DNA On-Prem Essential, 5Y Term, Tracker Lic | DIR-CPO-5347 | 5YR | 160 | \$0.00 | \$0.00 |
| CDNA-E-C9164 | Wireless Cisco DNA On-Prem Essential, 9164 Tracking | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| DNA-E-5Y-C9164 | C9164I Cisco DNA On-Prem Essential,5Y Term,Trk Lic | DIR-CPO-5347 | 5YR | 160 | \$0.00 | \$0.00 |
| AIR-DNA-NWSTACK-E | Wireless DNA Perpetual Network Stack - Essentials | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| AIR-AP-BRACKET-2 | 802.11 AP Universal Mounting Bracket | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| AIR-AP-T-RAIL-R | Ceiling Grid Clip for APs & Cellular Gateways-Recessed | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| CW9164I-MULTI | Minimum Quantity = 10 | DIR-CPO-5347 | - | 160 | \$0.00 | \$0.00 |
| | | | | | SubTotal | \$148,216.00 |
| Catalyst 9163E AP(| W6E, tri-band 2x2,Outdoor) w/Reg-B | | | | | |
| CW9163E-B | Catalyst 9163E AP(W6E, tri-band 2x2,Outdoor) w/Reg-B | DIR-CPO-5347 | - | 5 | \$809.81 | \$4,049.05 |
| NETWORK-PNP-LIC | Network Plug-n-Play Connect for zero-touch device deployment | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| SW9163E-CAPWAP-K9 | Capwap software for Catalyst 9163E | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| CDNA-E-C9163 | Wireless Cisco DNA On-Prem Essential, 9163Tracking | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| DNA-E-5Y-C9163 | C9163 Cisco DNA On-Prem Essential,5Y Term,Trk Lic | DIR-CPO-5347 | 5YR | 5 | \$0.00 | \$0.00 |
| AIR-DNA-E | Wireless Cisco DNA On-Prem Essential, Term Lic | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| AIR-DNA-E-5Y | Wireless Cisco DNA On-Prem Essential, 5Y Term Lic | DIR-CPO-5347 | 5YR | 5 | \$150.82 | \$754.10 |
| AIR-DNA-E-T | Wireless Cisco DNA On-Prem Essential, Term, Tracker Lic | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| AIR-DNA-E-T-5Y | Wireless Cisco DNA On-Prem Essential, 5Y Term, Tracker Lic | DIR-CPO-5347 | 5YR | 5 | \$0.00 | \$0.00 |
| AIR-DNA-NWSTACK-E | Wireless DNA Perpetual Network Stack - Essentials | DIR-CPO-5347 | - | 5 | \$0.00 | \$0.00 |
| CW-ANT-O1-NS-00 | 4/8/8 dBi Omni Dipole, N connector, Catalyst and Meraki | DIR-CPO-5347 | - | 20 | \$88.33 | \$1,766.60 |
| | | | | | SubTotal | \$6,569.75 |
| | | | | SubTota | I | \$154,785.75 |
| | | | | Tax | | \$0.00 |
| | | | | Total | \$ | 154,785.75 |



Purchase Notes

Restocking:

A 15% restocking fee will be applied to all returned equipment. Custom built designs and configurations may not be returnable.

• U.S. Tariff Price Adjustments:

The pricing offered as of the date of this Proposal or SOW is based on the current pricing and availability of products. In the event tariffs, duties, surcharges, or similar charges ("Tariffs") are imposed by any manufacturers or suppliers after the date and/or execution of this Proposal or SOW, DataVox agrees to promptly notify Customer and make reasonable efforts to mitigate the impact of any Tariffs and avoid any price increases. If no viable alternatives are found, Customer shall be responsible for the Tariff, provided that DataVox has exhausted all reasonable alternatives, including the sourcing of alternative products. If Customer elects to cancel the Proposal or SOW as a result of the Tariff, Customer may be responsible for a termination fee for any non-refundable prepaid services and non-returnable products ordered, in transit, or held in storage for the benefit of Customer.